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Taylor级数公式

𝑦(𝑥𝑛+1) = 𝑦(𝑥𝑛) + ℎ1

1! 𝑦′(𝑥𝑛) + ℎ2

2! 𝑦″(𝑥𝑛) + ℎ3

3! 𝑦(3)(𝑥𝑛) + …

• 𝑦′ = 𝑑𝑦
𝑑𝑥 = 𝑓 = 𝑓 (0)

• 𝑦″ = 𝜕𝑓(0)

𝜕𝑥 + 𝑓 𝜕𝑓(0)

𝜕𝑦 = 𝑓 (1)

• 𝑦(3) = 𝜕𝑓(1)

𝜕𝑥 + 𝑓 𝜕𝑓(1)

𝜕𝑦 = 𝑓 (2)

• 一般地说：𝑦𝑗) = 𝜕𝑓(𝑗−2)

𝜕𝑥 + 𝑓 𝜕𝑓(𝑗−2)

𝜕𝑦 = 𝑓 (𝑗−1)

具体地：

⎧{{{
⎨{{{⎩

𝑦′ = 𝑓
𝑦″ = 𝜕𝑓

𝜕𝑥 + 𝑓 𝜕𝑓
𝜕𝑦

𝑦(3) = 𝜕2𝑓
𝜕𝑥2 + 2𝑓 𝜕2𝑓

𝜕𝑥𝜕𝑦 + 𝑓2 𝜕2𝑓
𝜕𝑦2 + 𝜕𝑓

𝜕𝑦 (𝜕𝑓
𝜕𝑥 + 𝑓 𝜕𝑓

𝜕𝑦 )
⋮

Taylor一阶表达式：

𝑦𝑛+1 = 𝑦𝑛 + ℎ𝑦′
𝑛
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截断误差

Taylor一阶的截断误差：

𝑦(𝑥𝑛+1) − 𝑦𝑛+1 = ℎ2

2! 𝑦(2)(𝜁)

其中，𝑥2 < 𝜁 < 𝑥3

定义：如果阶段误差为𝑂(ℎ𝑝+1)，则称该方法有 𝑝阶精度。一阶 Taylor表达式有 1阶精度。
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